Lechure Z- (i Clags Problows
KE TERN 00N

4[8( 2020




1. Suppose that market for hamburgers was in equilibrium, with a supply curve of Q¥ =
2000P — 10000 and a demand curve of Q = 20000 — 1000P . Responding to populist citizen
pressure, the government puts a price ceiling of $8 on hamburgers.

(a) In market equilibrium, before the ceiling, find

(a) equilibrium price
(b) producer surplus

(c) consumer surplus
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1. Suppose that market for hamburgers was in equilibrium, with a supply curve of Q° =
2000P — 10000 and a demand curve of QP = 20000 — 1000 . Responding to populist citizen
pressure, the government puts a price ceiling of $8 on hamburgers.

(b) After the price ceiling, find

(a) new quantity
(b) producer surplus

(c) consumer surplus
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1. Suppose that market for hamburgers was in equilibrium, with a supply curve of Q° =
2000P — 10000 and a demand curve of QP = 20000 — 1000P . Responding to populist citizen
pressure, the government puts a price ceiling of $8 on hamburgers.

(b) After the price ceiling, find

(d) transfer
(e) deadweight loss

(f) deadweight loss as a share of the transfer (from either producers to consumers or

vice-versa)
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(c) Up until now, we assumed that all hamburgers were created equal, and it is self-evident
that they are not. If there is a variety of hamburger quality, which hamburger sellers
will be the most harmed by this policy?
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2. GLS Chapter 3, Question 3

The annual demand for full-spectrum LED light bulbs in Fairbanks, Alaska, is estimated to
be QP = 20,000 — 1000P. The supply is estimated to be Q% = —12,000 + 3, 000P.

(a) Find the equilibrium price and quantity of LED light bulbs in Fairbanks, Alaska.
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(b) Calculate consumer and producer surplus at the equilibrium price.
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(c) What is the total surplus created in the market for LED light bulbs?
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(d) (my addition) Would consumers get more surplus if the price were $6 and the quantity
were unchanged?



